the standard rules, some circles are shaded gray
and must belong to galaxies containing two gray
circles, not one, with the circles in rotationally A
symmetric spots for those galaxies.

connected group (between bold lines) in the
marked rows/columns. Separate each row/
column’s entry from the next with a comma. The
example has the answer “52,11131”.

17/06/30:
Double Spiral Galaxies by John Bulten
Theme: Astronomical Clock

Rules: Variation of Spiral Galaxies. In addition to

Answer Entry: Enter the number of cells ineach B |
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